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. Practise _ 3. Compare the graphs you generated in question 2. S s
| ' a) Write down ways they are similar and different, 6.3
1. Drmaw parabolas that have the following characteristics. e
| imilarties: e
a) 2 minitnum value b) a maximum value €) Iwo x-intercepts [
Mo ﬁg ] M ¥ |
T “ F * -] %‘ Differences:
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a 5 A b} What do you think was the reason for the difference between the graphs?
2. Complete the wables of values using the equations and then graph the data from both tables —- — z ol
an the same grid. The first one for each data set has been done for you. — T SR
y=2 y=2¢
x ¥ x ¥ c) How would the graphs in question 2 change if the sign of the coefficients of the 1 terms
3| o 3| 18 for each equation were negative?
-2 Y Changing the sign of the coefficient of x* would cause the graphs to ez
il -1 4. Use a graphing calculator to graph the relation y = —2¢* + 3x + 5, then complete the
0 0 stotemenis.
t 1 Q i W a) The coordinates of the venex are (., ) because
2 2
3 3 )
Sample calculation: y = Sample calculation: y = @ DlThe popution of the axfz of symmeiry 1§ Beiig
y= (-3¢ y =23y - .
y=9 y= 18
<) The y-imercept is — becouse
d) The x-intercepts arc because
¢} Does this graph have a minimum value or a maximum value? What is thiat value?
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